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’ 100kN/mM#%# 8% % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mZ# 25 = -~ = -|3m%i#Bz% -~ = = =
Zh st 1.00/ 0.00 ~ 401 50.30] #hList | 000 ~ 401| 2.07 10.87 LS 1.00|] 500 ~ 501 50.30] #h kst | 500 ~ 501 2.07 10.87
9 100kN/mM#%#BZ % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mZ#8 25 = -~ = -|3m%i#Bz% -~ = = =
Zh st 1.00{0.00 ~ 482 60.01] ZhbList | 000 ~ 482| 2.00 10.49 LS 1.00] 500 ~ 580 60.01] Zhklst | 500 ~ 580| 2.00 10.49
3 100kN/mM#%#BZ % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mMZ#B 25 = -~ = -|3m%i#Bz% -~ = = =
Lt 1.00] 0.00 ~ 6.79 85.82| ZnList | 000 ~ 6.79| 1.88 9.84 st 1.00f 500 ~ 8.56 85.82| #nLis | 500 ~ 856| 1.88 9.84
4 100kN/mM#%# 8% % -l -~ = -|3mZz#BZz3| - ~ - - -| 100kN/mZ# 25 = -~ = -|3m%i#Bz% -~ = = =
ZnLst 1.00{ 0.00 ~ 6.62 83.57| #nLis |000 ~ 6.62| 1.93 10.13 Zh s 1.00f 500 ~ 8.54 83.57| #nLis | 500 ~ 854 1.93 10.13
5 100kN/m%#EZ % = -~ = -|3m%EEZS -~ = = -| 100kN/ %z % = -~ = -|3m%EiEZ S = ~ = = =
Zrn Lot 1.00{ 0.00 ~ 6.19 7769 zh st | 0.00 ~ 0.00f 1.69 8.85 Zh s 1.00f 500 ~ 7.22 7769 Zhlst | 500 ~ 7.22| 1.69 8.85
6 100kN/mM%#EZ % = -~ = -|3m%EEZS -~ = = -| 100kN/MZE#BZ % = -~ = -|3m%EiEZ S = ~ = = =
Zrn Lot 1.00] 0.00 ~ 495 61.69] ZnLl4t | 0.00 ~ 495| 1.81 9.48 Zh s 1.00f 500 ~ 531 61.69] Zzn iy | 500 ~ 531 1.81 9.48
9 100kN/mM%#EZ % = -~ = -|3m%EEZS -~ = = -| 100kN/MZE#BZ % = -~ = -|3m%EiEZ S = ~ = = =
ZnLst 1.00{ 0.00 ~ 482 60.04|] ZnList |0.00 ~ 0.00|] 1.65 8.66 Zh s 1.00f 500 ~ 5.13 60.04] Zzh iy | 500 ~ 5.13| 1.65 8.66
10 100kN/mM%#EZ % = -~ = -|3m%EEZS -~ = = -| 100kN/ %z % = -~ = -|3m%EiEZ S = ~ = = =
Zrn Lot 1.00] 0.00 ~ 5.16 64.29] Zh L4t | 000 ~ 0.00] 1.62 8.51 Zh s 1.00f 500 ~ 5.70 64.29| ZhLis | 500 ~ 570 1.62 8.51
11 100kN/mM%#EZ % = -~ = -|3m%EEZS -~ = = -| 100kN/ %8z % = -~ = -|3m%EiEZ S = ~ = = =
Zh LS -l -~ = -| st -~ = = = % = -~ = -| Zh st = ~ = = =
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ % ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ % ~ ZhLS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ % ~ Zh LS ~
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Zh LS ~ Fh s ~ % ~ ZhLS ~
100kN/mM%#E % % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
Zh LS ~ Fh s ~ % ~ Zh LS ~
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